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3 � Electric Fields around Conductors ( �������
	 )

3.1 Conductors and Insulators ( ������
���� )
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#%F=o�$�#�%���&('*)�+ � H2 2V 8 B�$�#�%-,=��W?�
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V
��	l&dB�G _ V
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X�� ` ^� �W%) S �#��` m ��� 5
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3.2 Conductors in the Electrostatic Field ( �����"L�@'�
�
	��[��u )
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FIGURE 3.3
5 �l^MJ <?> ���%��{�|���������� da &	��~ S�
�� C _�
 �7{�|?& Gauss

��O=Pl&��Fs=� 8 | � � 8�9

da �!@ �26�� uMO��7& n � �-H=i
E =

{

Enn ( ��`(@ )
0 ( ����L ) (1)

52e 1 )!����{�|	���
��?�|�Y�Zl& σ �[� 8 � Gauss �0O=P < 1
ε0Enda = σda (2)52e�8�9

< �* 
En =

σ

ε0

e28 V�W σ = ε0En (3)

� _ �* �V 8�9

N �����M�%B C _ 8���5 �	�������2W�� � � 3 p%� <�> � _ 8!9 S�S 5 )���0�����. 5 �
��F ��!� �V _ V7� � 8�9 FIGURE 3.2 W N = 3 ��] 5�e28�9
k "$# (k = 1, · · · , N) �����'��p%V# 
(1) ������{�| 5 W�k S 5 c φ = φk(

y�f
)
_ 8�% .F�!J!q��
��u�� _ �* �V 8�9 (3.1)

(2) �����
��`(@�& 5 ���
	 Ek W-����{�| �*)	+�^� �V 8�9 (3.2)
(3) ����WM��? Qk &('2p 9 S�S 5

4



Qk =

∮

Sk

σkda = ε0

∮

Sk

Ek · da (3.3)

52e�8�9

3.3 The General Electrostatic Problems; Uniqueness Theorem ( � ��� � y�� )

���%B C _ 8 ��5 W#�3?�W��M��{
|�����~7]�^�� 8!9 5dH���@'�(��� 5 W Laplace
x���b

∇
2φ = 0 F=Q�R?^- �V 8-9=e J#� CTHlJ���� ���7&	��J#� S � x
�%b �7S�W�� � N%� %
. 8�9 S H?&�� ��� � y�� �(V > 9
����{
| 5 ��h��(�������?&
�'J
� Laplace

x��%b � 2 p���S φ = ϕ(r) � φ = ψ(r) F�~
p�B �dJl�[� 8!9 S ��� 6 ) W ((r) = ϕ(r)−ψ(r)

c
Laplace

x���b
∇

2W = 0 &�~�J
� 9
J R ^#)���������W�o�����{�|	� 5 W = 0 � _ �* �V 8�9S �	� ������&���J����
� `�f W W!�M��{�|�� R G 5 W _ 'h�3�� ��(��� 5 z xd5�e�8!9c ^
5 > 5 _ G!H�i W W������%k S B 5 B�q7&���C _ G�H=i _ C _ V-F')��'� � 2 � 5; J <?> ����� `�f W�����L 5 W7B�q?&�� 8 S �TF 576 _ V S ��������� 8 B C 5�e28�9
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< �* 
W = 0 p-.[1 ϕ(r) = ψ(r) (4)5 _ G�H=i _ C _ V 9

_������
;/O����%�%F e�8-9 5��F;/O � � V �M��?�F"]�^7^ _ G-H�i V

5 �#�#	'W�z x�5'e'8-9S H?&6_������ �*V > 9

V
5 W Laplace

x ��b
∇

2φ = 0 F�Q=R ^
 �V 8 Fl)����D|'W#���?�/{F| R B�C*��u�W
φ = φ0

_ 89y�f=5�e�8�9'c d�� } V ��f%V
 φ = φ0 W��������?&/~%J
� Laplace
x���b

�7S 52e�8�9 ^�B c � ��� � y��D< 1 )"5M���'��S2W _ V 9�< �* 
E = −∇φ0 = 0 (5)

� _ �* �V 8 � 5 )�_�������F _ 1�J#p 9

� � _ _����	�l&*K�'�� 8 J�!��#W%) � ������� 5�
 �E �^".9� _ G�H%i _ C _ V!F�)[�
���2��
�����F e V� =V� c ) e�8 VMW P�� 5�e �[ c �����	����@��-��	2W p � �7�('_ 8 � 5 K"s���� # N%����� 8 S �TF 576�8�9

3.4 Some Simple Systems of Conductors ( � � _ ] )

(1) FIGURE 3.7 � <7> �M/�� R1 � R2 �"h����%���"|����M��? Q1 � Q2 F�5�H��#H eJ#� CTH�J � & k � 8�9 ��0��7&! #" ��^MJ?� 6 )���� 1 ����u φ1 F
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φ1 =
1

4πε0

Q1 +Q2

R1

(6)

� _ 8 �#W=)��'� ; J�� 1 5�e28�9
0 ≤ r ≤ R1

5 �
��u2W
φ =

1

4πε0

∫ r

R1

−Q2

r2
dr + φ1 (7)

< 1 )!��� 2 �
��u�F
φ2 =

1

4πε0
(
Q1

R1

+
Q2

R2

) (3.6)

� _ �* �V 8�9
L�&l��������;�& 5 ����u�W y�f φ2 � w ^2'

φ =
1

4πε0
(
Q1

R1

+
Q2

R2

) (8)

52e�8�9
S H?&F.2� !# 

(

φ1

φ2

)

= P

(

Q1

Q2

)

(9)

��� '��d)���� P ( ��u a�f BDC _ 8 ��� ) W
P =

1

4πε0

( 1
R1

1
R1

1
R1

1
R2

)

(10)
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52e�8�9
�'�7�*V# 

(

Q1

Q2

)

= C

(

φ1

φ2

)

(11)

� {�� � C( ��� a�f BDC _ 8 ��� ) W

C = 4πε0

(

R2

1

R1−R2
− R1R2

R1−R2

− R1R2

R1−R2

R1R2

R1−R2

)

(12)

� _ 8�9

(2) ����O
��� � ���������l&�~%J
� Laplace

x���b ��S2� <
8 ��	l&� �! 8 J�!���) S ��� �����
&��	'�� 8�� �3?�� � &�~Mp�G 8 S � F 5?6#8 	�
�F e�8�9 5#� <l> _ � �3?�� � �-�-	
����A�:#F  �!�J#V!�M�'�����'�=S�& e J�� 8 S �[W � � � � y�� < 1
	��'� H 8!9 S H
W William Thomson (Lord Kelvin) � < �* k ��
��EH�J
�#������O �*V > SMO 5�e28�9

��0���� � | � � ��?�� �

FIGURE 3.8(a) � <?> �#�#��� Q � � ��?�F���0����MF �* �V 8 ��� � |=BDC h R G7@
H�J?� S �-��]
^?^� �V 8 � 6 ���#	?&
 ! <?>h9� �/? c ���	�
|���/ �l& z x �0^
J=B�0?� k ��H%i 2 p=� �=������B C _ 8�� �0^� <
V 9���x ����0 �M�%�'W/{�|������2��?�F Q

5 ) c?> � x ���-0-���"|����
��u�FFz x
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5�e�8!9 S � 2 p=�	�������?&�~�J
�#��	�F�~#p�B#H�i � ��� � y�� < 1 ����S�W _ V��5 )�� ��B�� � _ x O 5�� �2& ; p�G�J#V 9 S�S �����MO��(V >���� _ S
O�F e�8!9 S H
&	��
2� 8�9

(x, y, z) = (0, 0, h) �7u��'� � ��? Q F�]
^2� 8 �!^� �)�����{�|l& x− y
� | �(� 8�
� 	 z���� &	� y � 8�9 $ � W Q BDCcf �M^MJ���� �I�%� � |'��+ � ���'G 8�9

z > 0 �
�
	?&
 !%)!����{�|	�'��.�� �EH 8 ��??&�� C B2�#� 8 S �TF$# ��5�e28�9

� ��? Q � z = 0 |�� ` ^� Mv�����u�� (0, 0,−h) � ���� −Q !	"�#%$�&�')(+*,& 2 -
��. �/ Q 0 −Q 1 2h ��2�3�4�576�8)9;:,&=<%� ��>,? Coulomb @�ACBED�(,�GF�AH&�'

z > 0 � ��I%? r =
√

x2 + y2 0KJ,:/9

φ(x, y, z) =
Q

4πε0
{

1
√

r2 + (h− z)2
−

1
√

r2 + (h+ z)2
} (13)

4%L,&�'M � 2 N��). �/ �)<,�POQ& ��>%? z = 0 RS0UT�V,8)97WYX[Z Q ��\�]+� ��>%?_^	` Q *
& �/ !Pa;$b&�c+dGe�f�g��7h	iY0PjGk�4,LlX[Z z > 0 � �/>,? Z M ��k/m7n+��#�o�ASBp)q �;8)9�:,& 2 N��Pr � f�g���OQ& > 0Pj�k�4_L%&)'_s�t�9/D�(,* 2 -,��. �/ �)<�4�/> !)u�v%$�i�w;x�:�'Hy�z�{P| z < 0 ��}�~ ? Z)�����Ct=9_:,&�'
. �� Q ��6b8�9�. �� −Q !	��� �� 0=:Y��'

2 N;�G. �� �G<,� ��I ASB z = 0 R���� �/> � z ����!)�_�,&,0

Ez(x, y, 0) = −
∂φ

∂z
|z=0 = −

Q

2πε0

h

(r2 + h2)3/2
(3.7)
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0�*_&P' M i�1�f�g���R/��4;� ��> � z ���+!�L����%&�'GyGz/{ | z = 0 4 ? Ex = Ey = 0
0=*bt=9;:+&=ASB	Z��;A%� M � �/>+? f�g���Rl0�T�V�8�9;:,&G'

f�g�	�R��+��
�f
�Ui & �� R���� σ
?

σ = ε0Ez(x, y, 0) = −
Q

2π

h

(r2 + h2)3/2
(3.8)

4%L���� BEi &�'��� �bsQ� �Gf7g��7R�����
7f
��i &�� �����+?�� .H!���� 0�$H&��� r 0 r + dr �"!# �b��$�e �� dq
?

dq = σ2πrdr = −Q
hr

(r2 + h2)3/2
dr (14)

4%L,&�'
s�t=9_Z�
�f �����,?

∫

∞

0

σ2πrdr = −

∫

∞

0

Q
hr

(r2 + h2)3/2
dr = −Q (3.9)

0=*YX[ZG. �� 0&%76�'�(_� ����� 0 *+&�'

y_0�y_0 ����) �*��n;4+L�t���f�gb�,+ �� 1�
�-
��i.���/4,Z�/ t���0 �� +?,1�2 �
:bt��GA,Z�3*��954HsP'

3.5 Capacitance and Capacitators (
����6�� 0�7�8:9;8�<>= )
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Q *�& ����� !,yPN�����8G9%:+&=f7gb���7Rb� ��I ! φ0 0 $b& ( c�d��Q!��	� ��I ��
� 0�$b& ) ' Q ? φ0 ��
�� $b&�'
h�� 
������ C

? f�g���� 1���)���� ����� $+& �,��6�� 0�: � �"!$# =&%�=�4%L;&)' C
�)( I%? V/C 4,L%& 1�Z M i�! F 0�$b&�'

�� a ��f7g�'7R�� ��I 0 �� ��( � ?

φ0 =
Q

4πε0a
(15)

4%L�t��GASB
C = 4πε0a (3.12)

4%L,&�'

f�g 1 1 �� Q Z ��I φ1 Z�h�8�9�f�g 2 1 �� −Q Z ��I φ2 0Er
� 8�9_:+& 2 N&�)f�g

� >�) Z)#�*Cs�X
Q = C(φ1 − φ2) = C

∫ 2

1

E · ds (16)

4%L,&�'
+ yUD�(+* � ? FIGURE 3.12 ��	�,�	�R�- 7�8 9 8 <>=)4,L%&�'. R/�)R�0�! A Z�k�12��3�4 ( 563 ) � Q Z67212��3�4 ( 8�3 ) � −Q � �� 1/�+t=9;:+&
0)8�Z�563"� ��I ! φ1 Z98�3/� ��I ! φ2 0�$�&�'�3�4,2��6:�;�! s 0�$b&�'
3�4"��<=�6>�i !6?_N � $H&+0PZ�����1�4 ?���>+? k�@_4�ACB���1 (φ1 − φ2)/s 4+L+&G'
3�4/���ED=� �� R���� σ

?

σ = ε0E = ε0
φ1 − φ2

s
(3.13)

4%L,&9�G4%Z�3�4/�F<"�F>�iQ!=c�G%$�&,0H3�4��/� �� %?

Q = Aε0
φ1 − φ2

s
(3.14)
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0�L����CBKi &�'���� � ? FIGURE 3.12(b) A B "�� ��i &%sQ� � < � ? k�@_4+L+&+0� t �+sHX �/ 1_$ M 8�� ���
	�&��G4_Z=���74%L���� B i &�sHX � �/ _? z�
 t70�� �
*+&�'

FIGURE 3.12

M �����H!	c�G_$b&%0	Z�	�,�	�R�- 7�8 9 8 <>=�� ����6��,?

C =
Q

φ1 − φ2

=
ε0A

s
(17)

0=*+& 1 '
� m"��f7g"�G6�!�7�8 9;8 < =H0&3 �H& M 0K1;4 B�&G' FIGURE 3.15 �bsQ� * ��I φ1 Z�����

Q1 ��r � f�gQ! ��I φ2 �)r � f�g;4�$�t�� X��Ct=9+8�	�t���<H! 35�Qs���'M �G< � ? 3 N&� �� 1�L%&�'
�ED=�)f7g"� �� Q1 Z���D=�)f7g/����D=��R��"� �� Q

(i)
2 Z;h��)f�g"����D=��R��"� � 

Q
(e)
2 � 3 � �;4,L%&�'

��D/�Pf�g���� � !�" R S(
M ��#�$�%'&�4 ? ( � � � :)1*)�Rb!,+�-74/.�8)9;L_& ) !�3

1 0�132 ε 4 0�135�6�798,:�;=<?>�@BA,CED,F,GIH 4 1KJ9L9M 4ON�P,Q
C =

εA

s
(18)

G�R,FES'GOTVUXW�YZHV[3\XD3CE]ZS_^a`
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��9 Gauss �����H!�����$�&,0 S ���	�  %? Q
(i)
2 +Q1 4,LSX Z S �"�	� >,? �"��
/ASB

Q
(i)
2 = −Q1 0�*+t�9�:,& M 0 1�F�AH&)'�8���1Qt�9�f�g,2��	� >%? Q1 

��4�� 	�t�9�:
&9�G4�f�g+2���� I
� φ1 − φ2

?
Q1 4CB)� B i &G' M iQ!�7�8 9;8 <>=b0&3*�*��0�B��

� ��6�� C
?

C =
Q1

φ1 − φ2

(3.17)

4%L X[Z Q(e)
2

?
φ2 !2B)��9 ? :+&�1�Z C � ? ( � *7:�'

L_&�f�gH!��$�Pf�g74���� � W�W%tU9,8�	Q��0�� ��6��%? h��_��D � L_&�y�� � ? � � (
� * � B 	�t=9+8�	 � '

3.6 Potentials and Charges on Several Conductors ( � � -/��f�g�<����  0�� I )

3 -��)f�g�1&A B�*Gf�g � A M 	 i_9;:+& FIGURE 3.16 ��s�� *�<H! 3*�b&�'
A	B)*)f�g/�	� I ! 
 � 0�$�&)'Pf�g 1 �	� I ! φ1 Z��

 ! Q1 Z	f�g 2 �	� I ! φ2 Z�� ! Q2 Z)f7g 3 ��� I ! φ3 Z��
 ! Q3 0�$b&G'�ACB)*Gf7g"���  ,? −(Q1 + Q2 + Q3)

4%L,&�'
(a)
� ��s�� � Z)f�g 2 0 3 !����H8�� I !F�=�+0�$b&�' M ��0�B�Z�� > 0 . f�g/���  ?
φ1 4��
	�t=9_:/9_Z 
�� $�& ?	� 
/ASB��! ��s�� � J � '

State I: φ2 = φ3 = 0

Q1 = c11φ1 ; Q2 = c21φ1 ; Q3 = c31φ1 (3.18)

j�@ � (b)
� ��f�g 3 0 1 !����H8"� I !��=�+0�$�&�' M �H09B�Z�� > 0 . f�g/�	�  %?

φ2 4��
	�t=9_:/9_Z 
�� $b& ?�� 
/ASB��! ��s�� � J � '
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FIGURE 3.16

State II: φ3 = φ1 = 0

Q1 = c12φ2 ; Q2 = c22φ2 ; Q3 = c32φ2 (3.19)

h78�9/f7g 1 0 2 !����H8�� I !F�=�+0�$b&�' M ��0�B�Z�� > 0 . f�g"���  %? φ3 4��
	;t=9;:�9_Z 
�� $b& ?	� 
�ASB �  2��s�� � J � '
State I: φ1 = φ2 = 0

Q1 = c13φ3 ; Q2 = c23φ3 ; Q3 = c33φ3 (3.20)

�
(d) ��k � � ���%? I Z II Z III ����� ) F���4	�lB i &9�G4

Q1 = c11φ1 + c12φ2 + c13φ3

Q2 = c21φ1 + c22φ2 + c23φ3

Q3 = c31φ1 + c32φ2 + c33φ3

(3.21)

0=*+&�'
��
_8/Z�5�%�#�ol0�
Gw/i &�#�o � sbX c12 = c21 Z c13 = c31 Z c23 = c32 1����_$�& M 0 1
F7A t=9;:+&�'
��� cij !

6�� ��� 0=: � ' N -��)f�g�<
�$����� ? T�� ) 4,L%&�'

���H!�� ��� :�9_Z . f�g��"�	� I�� ���74,L�BKF_$ M 0�y�4CB�&�'
φ1 = p11Q1 + p12Q2 + p13Q3

φ2 = p21Q1 + p22Q2 + p23Q3

φ3 = p31Q1 + p32Q2 + p33Q3

(3.22)

��� pij
� � I ��� 0=:Y��'�� ? X 5�%�#�o pij = pji 1,*YX&��N M 0�yUF7A t=9_:,&�'
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3.7 Energy Stored in a Capacitator ( 7�8:9;8�<>= ��� � B i &�����&�� =
� ��6�� C �*7�8 9 8 <>=P1�LlX Z�3�4,2��	� I
�%? Φ12 �	� ��i_9_:,&�'
563"�	����1 Q = Cφ12 4%Z�8�3/����� ? −Q = −Cφ12 4,L%&�'M�M 4%Z	� I�� φ12

� � t��*	�	GZ�8�3�ASB���� � dQ 
���563 �	
 $&� �	� $b& $�e
�� ?
dW = φ12dQ =

QdQ

C
(19)

4%L,&�'� ��r �+8�9;:�*�:"7�8:9;8 <�=���� ����� Qf 		4
���_$&� ����� *	� � ?

W =
1

C

∫ Qf

0

QdQ =
Qf

2

2C
(3.23)

4%L,&�'+�� ) � Z M �*7�8:9;8 <�= � ?

U =
1

2
Cφ12

2 (3.24)

*+&����_&��*=�1 � � B i_9;:+&,0=:��b&�'
3�4�R�0 A Z�3�4,2�:�; s ��	�,�	�R�- 7�8:9;8 <�=�� 6��,?

C =
ε0A

s
(20)

4%L�t���'
3�4,2��	� > ��A B�� ?

E =
φ12

s
(21)


/ASB	Z � � BEi_9;:+&����_&��*= ��� BPT7$ 0

U =
1

2
(
ε0A

s
)(Es)2 =

ε0E
2

2
· As =

ε0E
2

2
[ 3�4,2���g�0 ] (22)

0=*+&�' M i ? � > � ��� � B i &�����&�� =�����1 ε0E
2/2 0Uk��H8�9_:,&�'

����f�g � r��.� � �b0�B7y	ZUc,dF� � � I �/�9�Pf�g�1�� X��G|�
Hy��b0 3��+&%0	j @
� ���_&��*= � 3*�b& M 0E1�4 B�&�'
�� a �F����f�g�'�4 ?

C = 4πε0a (23)

4%L�t���'�� I 1 φ Z�����1 Q 4,L�i�w � � B i &�����&�� = ?

U =
1

2
4πε0aφ

2 =
1

2

Q2

4πε0a
(3.25)
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4%L,&�'

7�8 9 8 <"=���5F3l0 8�3���2 � ?�� � � @/1���@ 0P8)9�� � ��4;Z��%: � �&B��
� B i
&)',s�t�9�3�4%2�:�; � k�# ��� N���� � ? �)@ � � B+�
	�� ) *��7@ F 1 � � � *,&�'
�
� Q

� k�# ��� z�*�1 B=k&1��9324 ��
 # 8�Z F � s X 7�1 � 324b2�:&; � x A B
x+∆x � ��8���0�B F ��*�$ � � ? F∆x 4,L%&�'
� �_&��"= ��� ��1����Q8�9_:�i;w+Z M ����@ F ��$b& � � � s�X 7�8 9;8 <>= � � �
B i_9�:,&�����& �*= U = Q2/2C 1��&A7$�&)' Q k/#/�����/�	 �4 � ����& �*=������
∆U
?

∆U =
dU

dx
∆x =

Q2

2

d

dx
(
1

C
)∆x (3.26)

4%L X[Z M i71���@$��� � ��� 8/:�ASB
F =

Q2

2

d

dx
(
1

C
) (3.27)

4 ��� * F 1�# 	�&�'

���

7�8 9 8�<�= ? 2 N���f�g 1 0 2 ACB *,&=<�4%L%&=ACB=Z"� I ��� � �;:/9%h	i���i"�Pf
g/��� I � s�X ����1��;�Ui &�'

Q1 = c11φ1 + c12φ2

Q2 = c21φ1 + c22φ2
(24)

.
cij
? f�g���� 1���)6��� 4�� 	�& ��� 4_L_&6��4_Z�� I ������4
���$������1 � �%&)'

dQ1 = c11dφ1 + c12dφ2

dQ2 = c21dφ1 + c22dφ2
(25)

������� dQ
���� 8"!�#'&�1��"�9� I J�ACB �� 8�!�#�& φ �Pf�g ��$&% ��� � ? φdQ

�����_&��*= � �7ASB('���*
��i�w%* B *7:�'
2 N&�)f�g�1�r � �Ui_9+h	i)�/i φ1f 0 φ2f (f

?
final ��m ) � (

+��
) � I 0�$�&G'* z_B �Pf�g y � ��1��"�GZ�� I y �"�	4_L_& �
� ACB�+-,b8�9 +
� ) � M � �
� �/."0

$b&�s�� * 2 N&� � X 1 � 0+XKL�1�Z ��� *	�
�
W
� u�v�8,s�� '

(a) φ2

? �=� � 8�� 	�	 φ1

� �=�PAlB3254 � φ1f � 		4,L�1Q&�';h���6 φ1

�
φ1f �	� t

�*	�	 φ2

� �=�PASB φ2f � 	P4%L�1Q&�'
(b) 1 0 2 ��7�8 ��9 i�:*�;Z�	 � φ2

� �=�	ASB φ2f � 	=4,L"179�ACB φ1

� �=�	ASB φ1f

� 	P4%L;1�&�'
(a) ��<�=�>)?

W =
∫ φ1f

0;φ2=0
c11φ1dφ1 +

∫ φ2f

0;φ1=φ1f
[c12φ1fdφ2 + c22φ2dφ2]

= 1
2
c11φ1f

2 + 1
2
c22φ2f

2 + c12φ1fφ2f

(26)
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(b) ��<�=�>�?
W =

∫ φ2f

0;φ1=0
c22φ2dφ2 +

∫ φ1f

0;φ2=φ2f
[c11φ1dφ1 + c21φ2fdφ1]

= 1
2
c22φ2f

2 + 1
2
c11φ1f

2 + c21φ2fφ1f

(27)

� � 2 �&� W
� 
 ?������	��

��� c12 = c21

��� �	����	������� ������� �"!$# �&%('�)�* # U +

U =
1

2
c11φ1f

2 +
1

2
c22φ2f

2 + c12φ1fφ2f (28)

�-,/.&021�3�. � �54�6�7��	�
8&9�: N ; �=<�>?�	@ > i ACB �=<�>?�ED&F + φi ��G$���"�IH
J�KML cij +�N(.&0

U =
1

2

N
∑

i=1

N
∑

j=1

cijφiφj (29)

�5O(G � �54�>QPM�	�
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